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If it is so; it is considered as properties which are guaranteed

OVERVIEW

The X713 questioned the ruling of X I 7» that if a woman gave money to a
man and expressed her desire to become nwWTPnH to him, it is a valid Pw7p.
It would turn out, asks the X713 that one can acquire NVINX 2°2 WW 0°03]
through a P1p of N1IAR 07 1XYW 0°023, notably the money.' mooIn discusses
what is meant here by the term n»anX on> w*w 0°021; are we referring to the
woman; for how can she be classified as n1"nx a7> ww 0°0317!

— AMNN NV OMN ONYNINDI *25N9T MYPIPY UPN BINRT DIV W
>"'w9 explained the reason why the woman (who is being acquired) is
considered n1NXR 072 ww °033, since a person is likened to land as it is
written, ‘and you shell bequeath them for a proprietary inheritance’.

Moo asks on "wAD:
— VPN NY ia)aR*! HaN 7aya N5 NP NYINT YD

And this explanation is difficult for that o2 is written by an °1v1> 72p,

however a free-man is not likened to ¥p7p7 (how can the X n3 refer to the woman
as N1°INR ok Wow 0°od).

mooIN notes the exception to this rule -
— (%0 97) 31"1‘va7 NP D993 NNIONTI 7295 1N 1PNVY 29D Y0y 91073 NPT NN

Except specifically in the case where one states “9¥ %7 (where ten people
are required to assess him), since he is assessed as a slave, as this is
mentioned in the first P92 of 3°97:719. Otherwise a P71 12 is not ¥ypp? WpnX; the

" There is a rule (see later the 73wn on X,12) that N™MAX 27> XY 2°021 (i.e. THU2LR) are acquired together
with nInR on% ww 0°021 (real estate) through 2ax 1°3p. If one is ¥p7p AP he can simultaneously (without
making a specific "3 on the 1°20%0n) acquire other 12v%un which the seller (or giver) wishes to sell him (or
gift him) ¥p1pi 2a8. However the opposite is not true. One cannot acquire 720707 23R ¥pIp.

2 1,79 (772) ®IPM, concerning 2°1y15 0°72Y. The term AMMR which refers to ¥p7p indicates that an 72y is like
ypIp.

? The 71w (in the beginning of 717710 N20n) states that just as by w7pi of MypIp there is a requirement that
there be ten people (one who must be a j772) to asses the value of the w7ph, the same is by w7pi1 of a person.
The X3 explains that w7p7 of a person means if someone stated *?v *»7 (I am donating my worth to wp),
in which case we assess him as a slave, and slaves are compared to ¥7p, therefore ten people are required
to assess this person. However the 11 12 is not ¥pp w°pnX; we require ten, only because he is assessed
as a slave and the slave is ¥pIp? wpnX; not the 71117 12.
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question remains why is this woman referred to as n1nR 0737 ww 2°021 which applies
(only) to ¥pp (or to 0%1yId DO72Y).
=997 5505V N FYPIPNI N (x,30 97 NP NIA2T NNIP 7992 XY NNNYI ) Ty

And even an 72y (who is ypIp% wpn X), nevertheless there is a dispute in
the first pap of p'"2 if an 72V is considered ¥pa» or he is considered
1"7?3’7?37:.4 So certainly a 717 32 cannot be considered ypap.

mooin offers his explanation.
— PINNK DNY Y RPITINDT NI

And it seems that the X723 does not mean specifically that the woman is

considered as property which has 391X (for as mentioned a 171 12 is not WpMKR
ypIR?) -
— P55V 2N 12393 PYVHVN 138N RY NPINN ONY PN 1) 9 GN NN
But rather even if a woman is considered ny R am» PR (as 177°u70n), we do
not find a case where 7>u%u» can be acquired through other Poubun -
— 23R 113 7Y XY 7NN DAY PRY DY09)7
For concerning N1 nR a7 1Rw 2021 there is no concept of '23x' by them.

mooIn offers an alternate solution:

— XD 2971 Y Y 3 N
Or you may also say as follows that this is what the X713 meant when it
states that according to this ruling it will turn out that 2°031 O¥ 1Pl NN 272 W' 0°01
nyInR on? PRw, for -

— P05V 2N NIPI 223 NTY PHVHVM 2N NP NYN N TN DY
if a woman is acquired 3°>vbun 23X (as this ruling indicated), then perforce
a field can also be acquired 7">u%un 23X -

—"nnvm ANYD NTUN 199950 AUNRT 9D 1937 S9NY

Since the monetary acquisition of a woman is derived through the "7 of
mrop P from a field -

$NYNI NN NIYNN NIPI NTY PN ON)

* See mpon there XX 7"7 that XN™IRTA certainly 0°72y are mvpap? Wwpin. The issue is concerning the
various 1127 rulings, if there too we assume that *»7 *vpapnd *72v or *n7 *2uhund. According to Mmoo there,
23K 1°Ip is a 13277 71p. Therefore the issue remains whether »7 “20%012 X *¥pnd 72V, (See however NBOIN
19w 11"7 K, where it seems that 2aR is RN™MRTA. "2 w"»9.)

> The X3 (seemingly) asks if this woman is going to be 1"20%un 238 7P (which is considered as 1ououn
720507 23R) it is tantamount to saying that ¥pap is 1°2u%vn 23k n°1p1. The general rule is that 238 1°3p is only
YPIp 23X, if there is 1°2u%0n 23R PIp then it should apply to 1P2uovn 238 vpp as well. This is surely wrong.
[Alternately the X773 assumes that an 7WX is more comparable to NVIIXR 02 W*w 0°051 than N1"INR 077 PRY.]
% The "1 %X (as opposed to the first answer) preserves the accuracy of nN1nX 2712 w*w 0021, It does not refer
to the woman but rather to regular Y72 as N0 explains.

7 See ‘Thinking it over’.
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And if a field cannot be acquired 7"7v5un 23X, then from where do you

derive this ruling by a woman that she can be acquired P7v%vn 238?! This is what
the X713 means that NYINX 2% PRY 0°001 23R PIPI NPINR on? wow 2°033, that if we apply
this ruling by an 7wX it will turn out that fields can be acquired through 23X 11p, which
obviously is not true.

SUMMARY

When the X713 says that it appears that n1°"InX 0777 WoWw 0°021 are 0°021 QY TIP3
nInR 0% PRY, it did not mean that the woman is considered 7% w°w 2°021
NNy, but rather the general concept that 1%v%un can be acquired only 23X
YPIp, not Pouovn 2R (just as ¥pap cannot be 170V 23K 11P1). Alternately the
Xnx argues if you maintain that a woman can be 1°20%07 23X 73p1, then ¥pp
should also be 77172 23R 7321 since we derive 7022 WX °1°1p from 77W.

THINKING IT OVER

mooIn assumes (in the second answer) that if an 7WX 1s NP1 with 23R 7P
1"Pubun, then ¥pap should also be 1P9u%vn 2aR N°Ipl, since we derive 703 "1°3p
awxa from 77w.° However, mooin previously taught’ that we do not derive
from nmop 3mp that all 77w °1°3p apply by 7wX 1°Ip; only 702 (and not 129,
for instance). Why therefore do we assume here that 23X 117 by WX "W 7P 1s
derived from n7w?!"

8 See footnote # 7.
O mwRY "7 R,
10See n"m.
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